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Question 1 (28 marks) B
. . . 8
Circle the best correct answer for each of the following questions. s
=

®

1.  One of the following animals has external gills: ;
=

(O nematode worm. (O seaslug. 5

QD

(O seaanemone. O flatworm. o

2. The alveoli in human lungs do not collapse because of presence of anti-sticking
chemical called :

O surfactant. O pleural fluid.
(O carbonic anhydrase. (O carbonic acid.

3. The substance that formed after water stress and lead to closing the stomata is:

O co, O HyCO;3
O ABA O o,

4. One of the following gases has the largest percentage in alveolus:

O O, O Co,
O N, O Hy

5. The structure that found in gas exchange system in grasshopper is:

(O spiracles. O alveoli.
(O diaphragm. O pharynx.

6. One of the following animals has closed circularity system:

O mammals. O insect.
O flatworm. (O nematode.

7. The part in the heart that receive deoxygenated blood from the body is :

O left atrium. O left ventricle.
O right atrium. (O right ventricle.
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E 8. The blood vessel that has high pressure is :

=]

o

;" O aorta. O pulmonary artery.

%‘ O pulmonary vein. (O venacava.

=

5

& 9. Phloem tissue in plant includes all of the followings EXCEPT:

o el

gl

5 (O paranchyma cells. O sieve tube cells.
(O tracheids. (O companion cells.

10. Stomata open and close due to:

(O presence of valves. (O hormonal control.

(O turgor pressure of guard cells. (O presence of cuticle.

11. One of the followings does not affect transpiration rate:

(O temperature. O light.
(O wind speed. (O chlorophyll content of leaves.

12. The cell in plants that acts as a source cell of sucrose is:

O leafcell. (O Rootcell.
O Fruit cell. ) Flower cell.

13. One of the following is not reabsorbed from nephron:

O water. O urea.
O sugar. O minerals.

14. Urea in kidneys is formed due to breakdown of:

O ammonium O ammonia

(O amino acid (O uric acid
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Question 2 (14 marks) B
2
2
1. Define the followings: (1mark) =
=
a) pleural membrane: =
=
(2]
gl
QD
o
b) gill arch:
2. Explain the process of expiration in human lungs in four steps. (4 marks)
3. Explain the atrial systole in human heart in four steps. (4 marks)

Do not write in this space
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4.

The figure below shows a cross section of a dicotyledonous plant showing some of its

tissues.
A
B
C
D
a) Name the organ of the plant shown in the diagram above.

b)

c)

(5 marks)

Name the tissues labeled:

A:

B:

C:

D:

What are the functions of parts labeled:

C:

D:

Do not write in this space
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Question 3 (14 marks)

1. Explain the effects of the following factors in gas exchange in plants: (4 marks)

a) Accumulation of Abscissic acid in plant leaves:

O
o
=]
o
~+
g
~t
=
D
5.
-+
=7
(7]
(2]
e
QD
0
D

b) Accumulation of O, in plant leaves.

2. The following figure shows the gas exchange in human alveolus. (4 marks)

Air
A v / :
? “ .
e "
A - ‘
5 Alveolus

=2 i
C |

capillary\ .
a) What is the type of blood in parts.

A:

B:

b) Name the gases labeled.

C:

D:

c)  Why the percentage of oxygen in alveolus less than that in inspired air ?

Do not write in this space
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5 d) Explain why is expired air saturated with water?

2

-+

2

=)

®

=

~+

=

- 3. Using the table below, Compare between artery and vein. (3 marks)
I

(2]

®

Artery Vein

Presence of
valves

Blood pressure

Lumen size

4. Compare in the table below transport in xylem and transport in phloem. (3 marks)

. Transport in
Transport in xylem ohloem
Substances transported
Source of substances in
plant
Sink
Question 4 (14 marks)
1. Define the single blood circulation. (1 mark)

Do not write in this space
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2. The following figure shows structure of human heart. (4 marks)

O
o
=]
o
~+
g
~t
=
D
5.
-+
=7
(7]
(2]
e
QD
0
D

a) Explain why part 4 has thicker wall than part 2?

b) What is the function of part 3?

c) Name part 1.

3.  The following diagram shows the structure of the nephron. (6 marks)

cortex

Medulla

Do not write in this space
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o1 a) Name the parts labeled 1-6
S 5
s :
o] 2:
=
:3"', 3:
(%2}
(2}
o 4:
0
o
5:
6:

b) Indicate the areas of the ADH action in the nephron?

c) Explain the effect of the antidiuretic hormone ( ADH) in those areas?

4. Explain how and why the rate of transpiration is effected by the following
conditions: (3 marks)

a) Anincrease in light intensity.

b) A decrease in temperature.

[ End of Examination ]

Do not write in this space




Diploma, Second Session — First Semester Bilingual Private Schools, Biology 2012/2013

O
0
3
0
~+
3
3.
-+
®
=
-+
=3
n
n
o
Q
(2]
®




FOR BILINGUAL PRIVATE SCHOOLS

BIOLOGY

Second SESSION 2012 /2013
First Semester

MARKING GUIDE

[This guide consists of 4 pages]



Biology Answer Scheme Jan 13

ANSWERS

QUESTION 1 (28 marks

R M
Each answer 2 may L—; Uy ’_ b
:[f'\*%‘é@}:d <
Vi 4'@4!'
Question number AnsWé%'ﬁ’_’;Qs“_, L
1 b ERE
2 a
3 c
4 g
5 a
6 a
7 @
8 a
9 ¢
10 c
11 d
12 a
13 b
14 ¢
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QUESTION 2/=-:¢id-mark
\\TFMJJ)JC/A'M 15)
(1 mark) \/1‘<\ ’//u

b. the bone that support each gill in bony fishes. (%2 mark )

2.

(4 marks)
The internal intercostal muscles contract and the external intercostal muscles relax.
The diaphragm relaxes and bulges upwards.
The volume of inside the thorax decreases causing the pressure of inside the thorax
to increase.
Air is forced out of the lungs as the elastic tissue of the alveoli recoils.

(4 Marks)

The heart is full of blood and the ventricles are relaxed.

Both the atria contract and the blood passes down the ventricles.

The atrio-ventricular valves open due to the pressure of blood against them.

70% of the blood flows passively down to the ventricles.

(5 marks)

a. Cross/ transverse section of stem. (1 mark )
b. ( 2 marks each 12)

A: Sclerenchyma

B: phloem

C:cambium

D: xylem

c. (2 marks)
C: to produce new phloem cells outside and new xylem cells inside.
D: : transport water and mineral salts up to the stem from the roots to the leaves.



2.

3

4.
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QUESTION 3
(4 marks)
a. Abscissic acid formed in the leaves after
guard cells to be flaccid and stomata to close. marks )
b. Accumulation of O, inside the leaves will cause stomata to open to let O, to
diffuses outside the leaves . (2 marks )
(4 marks)
a. A:oxygenated blood B: deoxygenated blood (1 mark )
b. C:CO, D: O, (1 mark )
c. because the inspired air mixes with air already in the lungs which has a lower
percentage of oxygen. (1 mark)

d. because the water is produced during carbon dioxide transport from red blood cells to
the lungs which will be going out from the lungs with expired air. ~ ( 1 mark )

. (3 marks, each space %2 mark)

Artery Vein
Presence of No valves | Valves present
valves
Blood pressure High Low
Lumen size Narrow or Large
small
( 3 marks)
Transport in Transport in
xylem phloem
Substances Water and Sugar and amino
transported minerals acids
Source of Root Leaves
substances in plant
sink Leaves Roots, fruits and
flowers
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QUESTION 4 _(12/AfRef )

Zi Eab3, b5z _/.J
UL £33 Scohazas & 25

1. (1 mark) = .
Single blood circulation is the passes of the blood thr ughth”,l:;l%el.@,g ce in one
circuit of the body. SR
2, (4 marks)

a. because the right ventricle has to pump the blood for short distance ( from heart to
lungs ) while left ventricle has to pump blood for long distance ( from heart to all rounds

in the body ). ( 2 marks )
b. carries the blood from the heart to the lungs. (1 mark)
c.aorta. (1 mark)

3. (6 marks)

a. ( each label %2 mark )
1-  Proximal convoluted tubule.

2-  Bowman’s capsule.
3-  Glomerulus.
4-  Distal convoluted tubule.
5-  Loop of Henle.
6-  Collecting duct.
b. Distal convoluted tubule and the collecting duct. (1% mark)

c. It makes the distal convoluted and collecting duct more permeable to water Which

make the water to reabsorbed so smaller volume of concentrated urine produced .
(1% mark )

4. (3 marks)

a. Increase light intensity will increase photosynthesis which will increase
formation of sugar in guard cells forcing water to move in them and they will
become turgid and the stoma will opened. (1% mark)

b. decrease the rate of transpiration because it decrease the kinetic energy of water
molecules so their rate of diffusion through the stomata pores increase OR air
will hold less water molecules at lower temperature. (1% mark)



	Biology-Sem1-2012-2013-scnd.pdf (p.1-10)
	Biology-Sem1-2012-2013-scnd-a.pdf (p.11-15)

